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1) Give the major organic products for the following reactions. (12 pts)
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2) Give the major organic products for the following reactions. (6 pts)
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3) Mechanisms for twenty, please.
Give reasonable mechanisms for the two following reactions. A mechanism, as we
know, is the step by step description of a reaction. Use curved arrows, orbitals, etc., as
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4) Give the major organic product(s) for the following reactions. (10 pts)
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5) Give the major organic product(s) for the following reactions. (10 pts)
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6) Give the major organic product(s) for the following reactions. (10 pts)
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7) Give the major organic product(s) for the following reactions. (10 pts)
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8) Fill in the missing reagents and/or products in the synthetic scheme outlined below.
Place your answers in the table provided below. (2] pts)
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9) Fill in the missing reagents and/or products in the synthetic scheme outlined below.
Place your answers in the table provided below. (8 pis)
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10) Mechanisms for twelve, please.

Give a reasonable mechanism for the following reaction. A mechanism, as we know,
is the step by step description of a reaction. Use curved arrows, orbitals, etc., as needed.
(13 pts)
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